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Exercise 6.3 (Solutions)
Megalect“re Textbook of Algebra and Trigonometry for Class XI
Let's Educate Pakistan! Available online @ www.megalecture.com, Version: 3.0

Question # 1
Find A.M. between

(i) 3+/5 and 545 (ii)x—3 and x+5
(iii) 1-x + x* and 14+ x + x°
Solution

()  3V5 and 5v/5

Here a=3x/§ andb=5\/§,so

a+b=3\/§+5\/§=8\/§=4\/§

2 2 2

AM. =

(i1) Same as (i) and (i1)

(iii) l-x+x>and 1+x+ x°
Here a=1-x+x*and b=14+x+ x°
a+b 1-x+xX+1+x+x"N\2+2x
2

AM. = =1+ x*

Question # 2
If 5,8 are two A.Ms between a and & , fiad a and b.

Solution
Since 5, 8 are two A.Ms beiween a and b.
Therefor a, 5, 8, b are ir(A& P
Here g, =a anl d=8-5=3

Now a,=a,+d &=S5=a+3 = 5-3=a = | a=2

Also a, =a,438 = b=2+33) = | b=11

Question # 3
Find 6 A.Ms between 2 and 5 .

solution
Let A,A,, A, A, Ay and A are six A.Ms between 2 and 5.

Then 2,A,A,,A,,A,, A, A5 are in AP.
Here a, =2 and a, =5
=a,+7d=5 = 2+7d =5

— T7d=5-2 = 7d=3 = d:%
So A =a,=a+d=2+3,=17/

A =ay,=a+2d=2+2(3,)=2+6,=20/
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A3=a4=a1+3d=2+3(% 2494 =23,
A4=a5=al+4d=2+47 2+1y:/

7

)=
(37)
A5=a6=a1+5d=2+5((%)) 2+1/ 2/
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Aﬁza =a+6d=2+6y +1%:3%

17 20 23 26 29

Hence —, —, —,—,—,— are six A.Ms between 2 and 5.
7 7 7 7 7 1
Question # 4
Find 4 A.Ms between \/_ 2 and 12
Ne
Solution
12
Suppose 4 , A, , A, and A, are four A.Ms between J2 and ﬁ
12
Then\/E,A, ,A., A , = arein A.P.
1 AZ 3 4 \/5
Herea—x/z and a—12
1= 6_ﬁ
12 12 12
=S a+5d="= = J2+5d="= = S5d=-= -2
1 V2 V2 V2
:Sdzg :>5d=£
V2 V2
2
»  (V2)
>d="—="1 = qa=\
V2 2

Now A =a=a,+d= V2+V2=22
A=a,=a +2d=2+22=3/2
A=a,=a +3d=\2+3V2 =42
A =a, =a +4d =2 +4J2 =52

Hence 2\/5 , 3\/5 , 4\/5 , 5\/5 are four A.Ms between \/5 and 12

7

Question # 5

Insert 7 A.Ms between 4 and 8.
Solution Do yourself
Question # 6

Find three A.Ms between 3 and 11
Solution Do yourself
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Question # 7

n n

Find n so that f_lzn_l may be the A.M. between a and b.
a +

Solution
Since we know that A.M. (1)

But we have given A.M. =na_j+b:_1 -------------- (11)
a— +b
Comparing (1) and (ii)
a'+b" _ a+b
a7+t 2
2" +b")=(a+b)(a " +b"") Cross Xing
2a" +2b"=a"+a"'b+ab" +b"
2a" +2b"—a"—b"=a"'b+ab""
a'+b"'=a"'b+ab""
an _ an—lb — abn—l _ bn
a™™-a'b=ab" - b cn=n—1+1
a ' (a-b)=b""(a-b)
—1 — bn—l

o Ypuusuuuuy

a
= -
(b

= n—1=0{%" | n=1
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